L
el
5 (

o
L
et
T =
[ (s)
)
')
5
/)

(s
)f( |
Eﬂf(
)
;
)

- ((
2%
/\%
T
o
-A
3
"y
+j
j...
(
3
-A
\(
A
-5
) (
)\
-3
)

(1;
| ;
E;@:
a?mj;
f:% -
6;
: 3
( /}"M
b:
\j
;‘3 (S
)
s
)
c—?_
,(§:>



&,;drg:g%.)wo)/m@

] Mow cAnW;N
‘

-t
s
x

lgw.oﬂ«v ks - molnpes

S

54
(zj«;hi“ >’ 2 L’)
arYc S¢




ket

D

Lt gt () (2)(2))

Thean B Vs o basis . 'R?Q\\cn ?

(o)

ﬁ(‘jf/\\/aluﬁ,\ geomebie wolth | alatlo i mold

Wow 8 el QMQA'OG',

(5) Let ¥=0L%x pl?

T(l)‘ l+(><H) =] 1+0 ><+o.><&l
T(x)= Xrern L= || +20 X +0X

(= ><+<x»nz»<=2><+3><"=

o.\+z‘><+3\><2‘



So/ =) | O
3 det (oD =det (G A0 =dt (g 2 )

2\ % L Ve
0 ;’v\\aol‘”‘/\]+0 2= 2’)

(1-))

4

_ 9y
i B - (1) 57wt epel

Now QL5 cledad EZ{TS’

. ‘L) = Z(q+bX+CXL\)

| Yo Solve T (atbxtex ©
{ g, N‘M (a+b)+(2\°*l°)7<+é‘x:jZMU”K%ZCK
(—atb)+ 2cx +EXT=0.

a:lo:,t

Ne,q,c\ 5o o —0\';_‘;";2} c =0 /%

—c=0



Se, B, (T) =§7t+i><+0xl x€ R}

d =f}t0+x)\k€@}

o basis fe £,(1).

S/J/ A=2 N W‘\w\? o\ i‘t\_/v/g;,j;o—l—'—/
- odbxtex” \

Now we CCLQ,C,V-QL‘C«_:‘({_ Eg (—\-)_____3

Soy we nazh hosolie |
(at+b)+ (254 2¢)X +.;c><&= 3 (0\‘\'lo?<+CXL)

T (@t ) =3 s
S
J




() Yes. et
D B=BV paVp; = L\, X, (4 2x+><l).
Sinea 2 has 2 elomeds ad pl(qa) how .

Aivamrtm 3 Wt gek @ basts /L &‘9@»@&6

‘{lbf PL(@\) "ﬂ/\u;/ T CAI\CKJ‘Q/\Q“M‘@Q(

o
(@ o
(%) ‘et ﬁzi(;'\/(‘) ( a)) uﬂi%fﬁé
)R el >
|

el 1 N (34 (A (1))

Co, Yo hgtnvelinn / dgelnae LS as
A=3 o algemolk §) 2 amd A= wlh aly molt @ 1,




3},/ an, as\$ ‘
Corkind) S0, A | ’
e o f(S)eR[TEFEIFEFIEHE)
-7(5)eR| (¥
we gk The e‘r“W
—ert 2} Telttns
ﬂ:j(rﬂ(?i)\‘é“(}’%*(?) ¥)
_— O(M bast fe
£ (T)

Moy 423

P EL o Goavme TG
> /\MUH\ equd Ao L



e L el
(i) / e gumvalun j&%ﬁé\m\ 7yl

A=3 Z |

U I O

AT

(N) E\j“‘i \()5; S\UZZ&O)S(&LAL Jpar
5M ““‘\5 I} gk bas) J eigonee N
o we s

pY) J.q T s noet ol(chv\u\rﬂif&,

&




=

, b —ﬂ\& e ((:}QV\ NI VS § .
Moy - -@nletun 248 224
I 2(\) 2 z

—> st _
TeC | thuy g=L() )T o
)‘ gO/ O\:M (b(‘&: (T)): ,




) Ese={ ez en(5)
i\nl X+Aj X:AX}? é@
'UJ = {(5)ed?] (£72)= (55

‘ X‘(‘ﬂ:lﬁ)
E h - o
| Yo Solue 15 o
| it (i :

AX+A3
A)(“‘A? 0

Lizalle  S1¢
\

= {p\(oousﬁ
B> &%‘U%VU )) (\] g

< ; -9 dy 9y b vs e &

(*\1) T (}\((Ajona




@ (¢) Lex T f5(R) 50 (®) be ghen by T = £ £

) _
Lﬁ \_.8\' 5= C\/X)Xz/ X3] Le o Vasis (:o/ %(R)

Thew
T(\)=0+ 0= O-l+0'><+ot><‘+0'><3
T(X): \+ O = |- 1+ 00 XA 0')(2““0' Xg
e 2k 2= 2N T XY 0 X H0: K
?'('O')(g

b+ brx €3

T(a+£><+¢x$dxg) = OE
= +(Zc+é<ix)=0}

3

K £, (T)= 2a+bx+cxl+d><

= {a«%L X+Cxa+a(><3/ (b+2¢><+ 3dx

= Za FhxrexH e

( (pt2c)+(2er éoOX-FBC}\Xl:O}

9 *
5o ()= § 1 [xeRY =% teR
Thus, =4} ¥ o basis e Eo.



L \ (M; ) dg e e 9eomz\”v‘\"c Motk u(ﬁ&b(a& i \H
42 A=0 \ ¥

l
[ s b b B B(R
sl

(i)

So, "T ¢ not O\&MN\“\\

j;<\/\“ V= |V, 4+ Ove +0vz + 1. 40V,

2 1(\/) \/?/ OV + [VL{'()VE Y o0V,
l(\/ﬂ \3 = O\/\ + Ovztlvz Y ot OV,

Z (

(V)= a = 0«/40\/1&0« Foot @V
1o 0 O

ZREN (3%‘? : >:Lm

& p O l‘

’/_///- .

O Le)r ¢ e on ordorad \ousts ('\/\/

Q>) SV( 05¢C thet T \$ dxmfju\a\t%a(o\el Thes, How eits

T O/M bausts (SL f/\ge,mrecﬂhfs JLT call ot 7§/

1 whew [Ty % o Magonal: mokoix, Let CUBIEENL

CL\WQ 0€ bas s MOL'f"([)C

- Lo the




ﬂ\w Q" CT]F L= [ij



le} P be Yo stmdand bast f, F
by) Thew oy pak (‘1)/ L,q \< O(Fagonali}&jd&’

T [, 75 diagonnlizable
7L A [T A\\chjuAkUl—tJrQﬁ\c

[‘r\m we e UsMY "\’24 ‘F—“’—\' JFQ@J\*
(Lalp =R wh p i T s tasclad

\oas\?vﬂv«; W prmei?f\ H\W Uf‘]

CheF?)

~






(o) ° We howe
50/ OEE;(’T), )
. Lt X)jée,\(T &
Thewn T(x\:Ax B T(g\:,\j,
5o, T(X¥) \=‘T(><\)rT(:)\ NI - A\(x4y)

o Letr W& Al
¢p Tx)ZAX
T T(ax\ = LT(A= AAX = A(@Lx\
Co, dXéE)\CT\
Thw %MW) E,\(T\ 5) O\S\)\DSPQ&O‘C\/
(\3) L€’+ \/‘)\/Z)\”)\‘ré, E)\LT\,
Thew _T<\l/;\;>\\/x \:‘br 1= A &
So, T (Nt a2 A e
= cj(v,\-uﬂ'(m e e )
= C /\\/‘ &l CL>\\!L+ Tl C,-A \=
4o Vel



